Solving Two-step Algebraic Expressions

Name __________________________________

Date _________________________
1. What does m equal in 7m-3=25:
a. m=28


c.
m=3
b. m=4


d.
m=196

2. In which of the following expressions does n=5?
a. 5n+3=13

c.
n+5=0
b. 3n-5=20

d.
4n-6=14

3. Solve for w in 3w+8=24:
a. 16/3


d.
13
b. 32/3


e.
29

4. Which of the expressions demonstrate the following: “five times m plus three equals eighteen”?
a. 5m+3=8

c.
5m*3=18
b. 5m+3=18

d.
3m+5=18

5. Solve for b in the following: b/2-4=6.
a. b=5


c.
b=20
b. b=10


d.
b=12

